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SECTION _ A

Af f the first 4 questions are compulsory. They cafty 1 rnark each.

1. Verify that 5r = cc x is a solution of y'+ y = 0.

2. Apply the operator D2 + 3D on e--^ * e2*. 
1

3. what is the inverse Laplace transform of the function -; ?

4. Examine whether f(x) = 1x31 is odd, even or neither odd nor even.

SECTION _ B

Answer any 7 questions frorn among the 5 to 13. These questions carry 2
marks each,

5. Solve 9yy' .* 4x = 0: V(0) = 1

- 6. Find the integrating factor of y'- 2y = ge*.

7. Find the general salution of y'- V = 0.

8. Reduce to first order and solve y,' = y,.

L Examine whether fix) = sin x + cos x is odd, even or neither odd nor even.
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10. Find ao of the Fourier series of f{x)

11 Find the inverse Laplace transform of ^S._--s. _25
12. Using the definition, find the Laprace transforrn of 2t + 3.13' Fxamine whether f(x) = xlxl is odd, even or neither odd nor even.

SECTION * C

l::il.r:::# 
4 questions f rom amons rhe 14 to 1e rhese questions carrv 3

14. Show that the equation 2xyox + (x2 + y2)dy = 0 is exact and hence solve.
15. Find the inverse Laplace transform oi tl.Z _

s._2s_3'16. Find the general solution of (D2 + 1) y = ,nn, *? .sorution. --'-"v' \s -. tly =irirx*x -, tvo lnnxisaparticurar

17. Find the Fourier Cosine series of f(x) _ x2, _ /r < X < n.
1 8. Find a solution u(x, y) of the equation u* _ uy = 0 by separating variables."lg. Solve xzy,, - xy, +y = 0.

SECTION _ D

ffil.-;#;2 questions from among rhe 20 to 23. These questions carrv S

- 2a' Find the orthogonar trajectories of the famiry of curves 
^z - y2 = cz.

21. Sofve using Laplace transform y,, + gy= Ssin 2t, ye)= 0, y,(0) = 5.22' Soive y" + 2y' - 3Sy = 12e5* + 37 sin 5x.
23 
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